SAP ABAP table BKK96 {Account Balancing Detail Data}

1~

BKK40

BKK96-ACNUM INT = BKK40-ACNUM INT

MANDT [CLNT (3)]

e 0.N

BKKRS [CHAR (4)]

P T000
‘ BKK96-MANDT = T000-MANDT B
- ----7"7 " 0.N IMANDT [CLNT (3)]
e TBKKO1
- BKK96-BKKRS = TBKK01-BKKRS o AR [CLNT B}
-7 " | BKKRS [CHAR (4)]

—

-
_—

-

- _ BKK96-POSTCATG I = TBKKM2-POSTCATG I  0..N

—_— -
—_——

ACNUM_INT [CHAR (10)]

TBKKS81
CONDCATG [CHAR (4)]

TBKK93

CLIENT [CLNT (3)]

BALOBJCATG [CHAR (4)]

TBKKG2
FUNCTION [CHAR (4)]

TBKKM2

POSTCATG_| [CHAR (2)]

TCURC

MANDT [CLNT (3)]
WAERS [CUKY (5)]




